1994 %

() 0 (o.o) A(13)

00 P) = [ +]9
LLAp) < [r-t] + (%3]

Dr R

P(X.%) fam

N Y(ed) X (ak) « T(ed) @
fe-of 4| doh b ReEt888m B2
\\_/h * \ ﬁ“'b\‘.tl’)z'é%z;;‘
XEFW“\*\H\ lc~u|+ luj 3

i x

{(o. ) L(AD) tRaw
L4 [ H = [%e-1] + (%3]
Je| = (k=1] = ~[H + [%-3]

-1 (g(é.so) M -% k.
(Zill): 2 (0(9(01) [&=1] —%:1 ::‘Ll;
1T (1g%) [kl (%) ~i?u-l? 1"
3 (4 o) [4-3]  ~%*3 13
(242)» {3-29 roid) (4] -1 : y
-3 (353j - [y« 3 ;-11':3? =3

A CEICRS Ob =
KEl(1 Ahy 2

73 jake(e-s |1

3 hah 0 1RE 2 ke -t 0>
Bo)=(br)eit® 1ot |anesed | (0w g
(t ?r’-;“ $oka (@ 4> O
TR FY W 13
© 2 ®- 3

®--1 (0 B2 1 @-1

o &Y (<o axct Y= 2
ODEXE( nzt Xel= 2
(Co ez 43 959 & Hov i ku,

51 Ra @
>

——

% %2MA
©) A(L3) BLLI) PY fRaz:

LCAD) ~ [o-1l4 [ %3]
d(p.5) = [wet]« (4-1]

d(4.p) = L(P.B) tRav,
[%-1] + %3] = [%e1] €[4~
[l =1l = [4-1] = [9-3)

2 (Ks-) (X-1] o CIRNNEAN O
(h12)» o -2 (leger)  edl) ~fep ?’Cfl .
-2 (6% e 2§ - -2
~o (4€1) [4-1] —w? Y-
(R) - { -4ty ((<9¢3)  |4-3| RCA S )
e (389 (@llae ey
EL e I AUEB/E 97 YN Y -2
Q4% (2 vhihV q
=3
[EB)’ I';B 'tmé s LY-¢ ~99 2 29~ -2 229~
(52) 9 2 = 29-4 -4 €144
Ys
9 -2 S TCEC S P
(CRIBS
@-‘)_ -t ® ~2x W1 ®.
K1 2dt [T T3
///// \1‘
—Z/ 13
2R354

VA

—
—_



